
6 -

 11 -

 ｰ 12 

[R]

1

- 9 

- 2 -

ｰ 8 

ｰ 3-

16 -

- 14

4 -

4 -

- 5

7

7

ｰ 10 

13 -
15 -

17 -
18 -

 1. STUD BOLT  SHORT   [STBT-S]    　   　
 2. SOCKET HEAD M8×15mm ×2
 3. BUTTON HEAD M6×10mm ×2
 4. BUTTON HEAD M8×20mm ×2
 5. BUTTON HEAD M6×20mm  
 6. BASE PLATE [R]
 7. BASE PLATE COLLAR 12 ×2
 8. MASTER STAY
 9. STEP PLATE [R]
10. BRAKE PEDAL 150  [BPD-1]
11. FOOT PEG
12. PEDAL TIP (DELRIN)  [ST-001D]
13. FOOT PEG BEARING COLLAR 5
14. PEG WASHER M8
15. BRAKE ROD M40
16. FLANGE NUT M8
17. PLAIN WASHER M6
18. E CLIP M6
19. FOOT PEG END CAP

      
POSITIONS

1
2
3
4

20mm Back
20mm Back
20mm Back
30mm Back
30mm Back

20mm Up
30mm Up
40mm Up
30mm Up

5 40mm Up
40mm Back6 40mm Up
40mm Back7 50mm Up

ｰ 12

YAMAHA FZ1 '01-'05
REAR SETS  part# Y-FZ1RS  

ｰ 14 

ｰ16 15

ｰ 4-

ｰ 10 

ｰ 13 

ｰ 9

3  -
7

- 6
2
/

/

ｰ 18

 1
/

17

- 5 

8
/

11

11

 1. STUD BOLT LONG   [STBT-L]    　
 2. SOCKET HEAD M8×15mm ×2
 3. BUTTON HEAD M6×20mm　
 4. BUTTON HEAD M6×10mm ×2
 5. BUTTON HEAD M6×20mm  
 6. ROD END COLLAR 3
 7. MALE REVERSE ROD END M6
 8. SHIFT ROD 220
 9. FOOT PEG BEARING COLLAR 12.5
10. BASE PLATE [L]
11. BASE PLATE COLLAR 12 ×2
12. HEEL GUARD [L]  [HG-3L]
13. STEP PLATE [L]
14. SHIFT PEDAL  [SPD-3]
15. FOOT PEG
16. PEDAL TIP (DELRIN)  [ST-001D]
17. REVERSE JAM NUT M6
18. PEG WASHER M8
19. FLANGE NUT M8
20. FOOT PEG END CAP 

※ADJUST THE STOCK CHANGE ARM WHEN INSTALLING SATO REAR SETS. 

All measurements are in relation to stock position (0 mm)

19

20

19

Shorter side of STUD BOLT LONG (#1)
should go in the peg.

Flat side of Peg Bearing 
Collar 5 (#13) should face 
Step Plate(#9), with the 
stepped side facing out
toward pedal bearing.

Flat side of foot peg bearing 
collar 12.5 (#9) should face 
step plate(#13), with the 
stepped side facing out
toward pedal bearings.

D
ue

 to
 ru

nn
in

g 
im

pr
ov

em
en

ts
 in

 th
e 

de
si

gn
s 

of
 S

at
o 

pa
rts

, s
om

e 
ne

w
re

pl
ac

em
en

t p
ar

ts
 m

ay
 lo

ok
 s

om
ew

ha
t d

iff
er

en
t t

ha
n 

th
e 

or
ig

in
al

 p
ar

ts
w

ith
 th

e 
sa

m
e 

pa
rt 

#.
  T

he
se

 s
lig

ht
 d

iff
er

en
ce

s 
ar

e 
m

os
tly

 c
os

m
et

ic
an

d 
ha

ve
 n

o 
ef

fe
ct

 o
n 

pe
rfo

rm
an

ce
.

[L]

Not Pictured:
BRAKE LIGHT SWITCH P-1.25

satoracing.com

Shorter side of STUD BOLT SHORT (#1)
should go in the peg.

Parts no longer available

Smooth, rounded side of PEG WASHER M8 
should face pedal bearings, with the rougher 
flat side facing out towards Foot Peg

Smooth, rounded side of PEG WASHER M8 
should face pedal bearings, with the rougher 
flat side facing out towards Foot Peg.


